Shri Jain P G College, Bikaner

C-346

B.Com. (Part-11I) Examinatio™ 2020
ACCOUNTANCY & BUSINESS STATISTICS
First Paper
(Corporate Accounting)

Time allowed : Three hours
Maximum Marks : 100

(Marks : 2 x 10 =20)

SECTION - A .
. Answer all ten questions (Answer limit 50 words). Each question carties 2 marks.
S (3% : 2 x 10 =20)
AR T/ SRl % I AT (ITCH 50 W) | e W 2 FF F R |
SECTION - B (Marks : 8 x 5 =40)

0Asnswer any five questions out of seven (Answer limit 200 words). Each question carries
marks.

g - (3% : 8 x 5=40)
a9 | foredl wia sl & I R (ST Hin 200 TI=2) | T W 08 HH HT1 R |
SECTION - C ~ (Marks : 20 x 2 = 40)

Answer any two questions out of four (Answer limit 500 words). Each question carries
20 marks.

. Qg - ¥ (3% : 20 x 2 = 40)
wﬁﬁﬁvﬁam%m?ﬁﬁn(mmsoow) | e ¥ 20 AF HT R |

SECTION-A
G us - H
1. (i) What do you understand by acquisition of business,
SqEHE % AR § 3177 T w2
(ii) What do you mean by Managerial Remuneration ?
TEhR Wi @ = A R 7
(iif) What is meant by divisible profit ?

A T I A A R 7

2x10=20

P.T.O.
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(iv) Give any two characteristics of internal reconstruction.

st A S fered e |
(v)  What is difference between cost of control and goodwill ?
oo e A 4 0 R 7
(vi) What is the formula of valuation of goodwill by capitalization of super profit ?
firemit 3 ol 2 S T o T H B R 7
(vii) What do you understand by yield value of shares ?
3T 3 ST T § A 1A R 7
(viii) What is difference between underwriting commission and brokerage ?
TeTelt W i A AR 7
(ix) What is meant by inter company transactions ?
T T SRR 4 A9 G & 7
(x) Explain minority interest in the context of consolidated Balance Sheet.

e iy 5 s o e | k

SECTION - B
TE-%

8x5=40

Ankit Limited issued 2010 9% Debentures of 2 1,000 each at a premium of 5%. 60%
of the issue was under wrinen by M/s. Ramkishan and Company at the maximum rate
of Commission allowed by Rule 13 prescribed under Section 40(6) of thie Companies

Act 2013. 16000 Applications from public were accepted and paid for in full. Give
Jjournal entries in the boo;

of the company and the underwriter.

o 98 3 2 1003 30,000 g0, st w1 594 v Pt e | B
TR OV T 3 T s 5 609, 1 i o e e s @
R 7 3 RS P 1w ) et e 2013 # siftrga & 1 16000 HH B

fou 1] -
‘mnmn”%uﬁmwﬁmmwmwgﬂmmﬂw'
mﬂmmm:m |

C-346
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3. The paid up share capital of Lalit Ltd. amounted o ¥ 2,50,000 consisting of 25,000
equity shares of ¥ 10 each. Due to losses incurred by company continuously the
directors of the company prepared a scheme for reconstruction which was duly
approved by the court. The terms of reconstruction were as under.

(i) Inlieu of their present holding, the shareholder’s were to receive
(a) Fully paid equity shares equal 2/5% of their respective holdings.
(b) 5% Preference Shares fully paid up equal to 20% of the above new equity
shares.

(c) 3,000 6% second debentures of ¥ 10 each.
(ii) An issue of 2,500 5% debentures of ¥ 10 each was made and fully subscribed in
cash.
(iii) The assets were reduced as follows :
(a) Goodwill from ¥ 1,50,000 to T 75,000
(b) Machinery from ¥ 50,000 to ¥ 37,500
(c) Lease hold premises from ¥ 75,000 to ¥ 62,500
Show the journal entries to give effect to the above scheme of reconstruction.

wfera ffiee i e ot 7 2,50,000 & 3 6 25000 T 10 1ot Far it F favaa § | Tk
1 AR ST % RO GeTerh] 3 O R A AT T Rl e g =R
e W& | 3 Fwio 6 7@ e yer
() I 19 ST v & T W T B -

(2) A 3971 ) & % 2/5 F FUE P o FHA W

(b) T 3% 3 20% % W 5% T Few THR 30w

() T 109 3000 6% Fdra FoH
(D) R 10TRY 2,500 5% werm v w1t el 7 < 6 TR B ol arfrem g |
(iif)  Feferat Pt ypR wer od ©

(@ =+ 2 1,50,000 & T 75,000

®) W B2 50,000 F 7 37,500

ey Igrga wefy $1 7 75,000 & € 62.500

I Pt 2 ) s e 35 e e R A

4 '\‘N'hy d“":“’" of profit into prior to incorporation and post incorporaion profit is
T 1 BT e oy e e e 5 W 1 A R g sz @ 7
¢ 3 P.T.0.
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Lokesh Limited earned a profit T 115 lakhs before charging debentures interest and tax 7.  The Balanee Sheet of X Ltd. as at 31" Margh, 2016 was as follows :
for the year ended as at 31 March, 2020, The capital structure of the company was as 31 wrd, 2016 1 X fofiee % fag e voman «
under : Balance Sheet as at 31* March, 2016
. . L. Equity and Liabilities :
rew R X 31 TN, 2020 1 T EE Y ¥ HOTE! WA qwr A 115 TG H (1) Share holders’ fund
N HHA IMﬁ@Wﬁ“W‘ﬁr (a) Share Capital
Authorised
1.00,000 10% Debentures of T 100 each fully paid. Issued and subscribed 5,000 equity shares of ¥ 100 each
o ’ fully paid
1,00,000 15% Preference Shares of T 100 each fully paid. (b) Reserve & Surplus :
o General Reserve
1.00.000 Equity shares of ¥ 100 each fully paid. P& L Ak,
Directors of the compsny proposed to transfer 10% of after tax profit to general ) Eo;—geurrenbentn:;x;bﬂmes
reserve and proposed 1o declare 25% dividend on its equity share capital. Further @ Cm:em Liabilities
Directors propose to issue one equity share of ¥ 100 each for every four existing equity - Creditors
shares as bonus shares. The balance of profit brought forward from last year was Bills payable
T 43,00,000. Provision for tax
ing i Total :
Pass necessary journal entries on 31¥ Maru;h. 2020 to charge o-u:smndmg interest IL Assets :
on debentures for one year. corporate tax 333% (gross) on profit and to propose (1) Non-Current Assets 3
preference and equity shares dividends and to propose bonus share issue. The (a) Tar}gible fixed Assets 5
corporate dividend dis;;ributiml tax rate is 20.56%. Also show the relevant items in the glulld:gM . ;jg.OOO
L 31% March, 2020. ant achinery ,000
balance sheet of the company o be prepared on 31% Mare (®) Intangible Fixed Assets :
M%Wﬁﬁiﬁ?&‘a@mzsoomuﬁﬁawwmmm%mmmﬁ (), g:d‘;i" 25000 (¢
. o c er Non-current Assets %
e SO F IR A | w6 s S Y R T 1R i ® Preliminary expenses 5,000
£ 100 ¥ & TR 3 a9 v A et w0 1 T R | T T § 3 S an (2) Current Assets : %3
s o Stack 3,30,000
T 45,00,000 Debtors 70,000
. AN B Cash at Bank 90,
31 TS, 2020 ) T g T 1 AHTAT S B T FAA 79 G R 7 Total : @@5,m
T T SRR, W 3 e O, T R R 3340 (@) R Y TH A The revaluation of Assets of Company was made on 31* March, 2016 as follows :
o Building ¥ 3,00,000; Plant and Machinery ¥ 4,25,000; Stock ¥ 4,00,000 and Goodwill |
wdt st R SR | B ey R 1 2 20.56% R 131 7, 2020 B R ¥ 1,60,000, find out the value per equity shares on the basis of Net assets of the 3
i T Fag & T R ey | Company, assuming that there is a contingent liability of ¥ 35,000 of company.
31 91, 2016 P ) i wferat w51 g R SR R :
WS R 3,00,000; wR wd weid ¥ 4,25,000; =& € 4,00,000 T @l T 1,60,000,
What do you mean bY Prierenta) Creditors ? w9 Y2 Wl & SR SRy E o I T8 TR B R SR s s
S 1 35,000 ¥R e d |
qatfirsT A 8 IR ey ar ?
c-346 5 PT.O
~ aslk
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9.

Profit and Loss statement of NITIN Limited.
Determine net profit fo

r the purpose of Calculating Managerial remuneration :

T 9 R 2 | e TRy o i 8 IS

20x2=40

e e =1 om-TH
w1 Pufa AR |
1. Income: 4
Profit on sale of Building (Cost T 1,80,000,
Accumulated Depreciation thereon T 90,000 and sold at
T 1,92,000) 1,02,000
Subsidy from Government 18,000
Sales 17,00,000
Total Revenue : | 18,20,000
II. Expenses:
Cost of Goods sold 7,70,000
. Repair and Renewals 12,000
Salaries 33,000
Depreciation 60,000
Sundry Expenses 9,000
Loss on sale of Investments 6,000
Expenditure on Scientific Research (for establishment
of new laboratory) 6,015
Contribution to charitable funds 15,000
Interest on debentures 15,000
Debenture trustees remuneration 3,000
Total Exp 9,29,015
{ I Profit Before Tax (I - 1) : 8,90,985
' Less — tax on profit 3,00,000
Profit afier tax 5,90,985
SECTION-C
g s —-d
The Balance Sheet as on 31% March, 2016 of a Partnership firm was as follows :
,_’&ce Sheet as at 31 March, 2016
! Capital Accounts: | Goodwill 20,000
[ A 1000 Plant 1,40,000
| B 60000 | Furniture 6,000
| Cumfl Aol | 2,00,000 | Stock 90,000
[N °°°l“g‘;‘ | Book Debts 56,000
| B H';’O ‘ Prepaid Expenses 2,000
C Io'r’f] ‘ 00 Cash at Bank 38,000
== 50,
! Sundry Creditor 1,02.000
— 3,52,000 | 3,52,000
C-348
6

10.

It was proposed to form a company to acquire the business of this partnership firm. For
this purpose, the assets were revalued as follows. Plant ¥ 1,20,000; fumiture ¥ 8,000;
Stock 7 84,000; Book debts ¥ 50,000 and prepaid expenses Nil. The profit of the firm
(after charging fair remuneration in respect of services rendered by the partners) for the
preceding five year ending on above balance sheet date were : T 50,000, ¥ 58,000,
? 66,000, T 70,000 and ¥ 66,000 respectively. Included in these profits were non-
recurring income averaging ¥ 3,000 but looking to the nature of the business, non-
recurring incomes will also arise in future every year and promoters of the proposed
company agreed that a figure of ¥ 2,400 should be accepted as income from this source.
Ignore income tax. It is policy of firm, which also be continued by the company to
charge depreciation on plant @ 15% per annum and on furniture @ 5% per annum.
Calculate the value of goodwill taking into consideration the following facts :

(i) The normal rate of return on average capital employed may be taken as 8%.

(ii) Five years’ purchase of the adjusted Super profit on annuity basis agreed price of

goodwill.
(iii) The present value of one rupee annuity paid for five years at 8% may be taken as

23.99.
T Ae B % g H Gl ¥ W FOA H W1 H T W@ W EE F
forg wmafelt &1 gdeaien T8 TR R T : w@mE T 1,20,000; EHTE T 8,000; WS
¥ 84,000; I W T 50,000 T e 49 Y | I g it faf Y gura 2t aeft
foftr =6t i & 7 ole ot & o (arSier  dardt % Rig aRafye ¥ gy § 3R ol
S FE F =R FHE: A — T 50,000, T 58,000, T 66,000, T 70,000 3K T 66,000 |
i 3 S 3, sfe ¥ 3,000 wffi o Reg R R TR B 2w gy, SR
3 st o i 3 o gt @t o st A % AT Y 7 R 5 v A @
?2.4wiﬁmwhaﬁmvﬁm|mwmwﬁfm%mnf?ﬁ:ﬁﬁ,mmm
mmﬁmm,%mmwmﬁﬁls%aﬁﬁmm“mﬁﬂ
5% S R | ST et 3 e v g TR G A g -
() 3fvem R 4ot o 8%, ) 0w Yo T R |
(i SR 1 721 et 3y oy e 0 e 9 5 e sy o |
(09 3 o 594 0 28 o o e 0 1 0T 3.9 o

What is me. s
ant by ‘fair value’ of shares ? How is it determined 9

35 3531 3 e v 7 P s e BT 7

7 P.T.O.
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11.

12.

r . w. v r.J

The following Balance Sheet of B Limited and A Limited as on 31 March, 2016 are

supplied to you.

¥ 31 W, 2016 3 frferfea R s wega R I & -

) fafies ua © ffiee .,
- Figures as at 31-3-16 |
B Limited | A Limited
LS .
I. Equity and Liabilities : '
(1) Shareholder’s Funds
(a) Share Capital
Authorised
Equity shares of ¥ 100 each fully paid up 10,00,000 5,00,000
Issued and subscribed
Equity shares of ¥ 100 each fully paid up 5,00,000 3,00,000
(b) Reserve and Surplus '
Profit and loss account 1,60,000 (10,000)
(2) Current Liabilities
Creditors 40,000 50,000
7,00,000 3,40,000
IL Assets : |
(1) Non-Current Assets
(a) Tangible fixed Assets
Fixed Assets 3,60,000 1,80,000
(b) Non-Current Investments 2,400 equity
shares in A Limited ' 1,96,000 —
(2) Current Assets
Debtors 1,24,000 1,50,000
Cash at Bank 20,000 10,000
Total : 7,00,000 3,40,000

B Limited acquired shares in A Limited on 1* January 2016. The Profit and Loss
Account of A Limited showed a Credit balance of ¥ 30,000 on 1% April, 2015. On 17%
October, 2015 stock of goods of A Limited costing ¥ 46,000 was destroyed by fire
against which insurer paid only ¥ 8,000. On 3" March, 2016 Stock of goods costing
¥ 19,000 was again destroyed by fire against which insurer paid ¥ 15,000,
Prepare consolidated Balance Sheet of the group on 31* March, 2016.

ot fafiee 3 ¢ forfires & i 1 Sadh, 2016 %1 73 R | 1 9, 2015 ) @ fafds &
< §IfR WA X 30,000 T 2 TET AT 1117 AR, 2015, 9 T 46,000 AT 1 T AT
T ATt 1 R aﬁﬁwzﬂwﬁmﬁsﬁqﬂmm.ﬁmaz 8,000 ST 8T | 3 A1, 2016
! 4: T 19,000 AT &7 A1 1 Wb A & T2 B 1y Foreds Ry st st 7 15,000

T 8¢ | 31 TS, 2016 Y wg 7 tehigpa Frgr fam i |
What are Bonus Shares ? In what circumstances should bonus shares be issued 7 State

source of issue of Bonus Share. Discuss the provisions of the Companies Act relating
to issue of Bonus Shares.

A S R 7 B ofRuferdt § v P R e @ 2 v st % Pt % 4
wAE | S N & Pt 3 ey 3 et rfifvem & e 1 avh i |
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C-348
" B.Com, (Part-III) Examination, 2020
ACCOUNTANCY & BUSINESS STATISTICS
Second Paper

(Taxation & Auditing)

Time allowed : Three hours
Maximum Marks : 100

SECTION - A (Marks +2x10= 20)

Answer all ten questions (Answer limit 50 words). Each question carries 2 marks.
qUE 3 (3% : 2 x 10 =20)
HHE TW AT % I R (ST et 50 ) | TR A 2 IH HIR
SECTION - B (Marks : 8 x 5=40)

Answer any five questions out of seven (Answer limit 200 words)- Each question carries

8 marks. ' .
T -« (HAH : 8 x 5=49)

| 3 2 foree ot Wt ¥ I AR (I T 200 W) | AN T 8 D HIE |
SECTION - C (Marks : 20 x 2 = 40)

Answer any two questions out of four (Answer limit 500 words). Each question carries

20 marks. '
Qg — | (31 : 20 x 2 = 40)

IR Frdl & v 3 IR AR (I F1 500 WeT) | T W 20 IFF HI1R |

SECTION - A
gug - A

1. (i) Whatis Composition Scheme ?

o AR R ?

(i) Mention types of GST.
] TE T L FH TR T |
(iii) What do you understand by deemed registration ?
" T ol & 3T I EEE € 7
(iv) Explain “Radio Tax” from tax point of view.

1 g A e 2w ) AT |
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it for issuing tax invoice 7
(v) What lSt:ﬁgﬁﬁmmmwt \
(vi) :{ha d und“sm"d by zero rated supply ?
Vi t do you g :
?Bmi%aamﬂ“‘“"a _— |
(vii) What is the meaning of Inter- ale 9
ity faf & 1 AR t?
it 9
(vii1) What 1s Conﬁﬂuous Audit
(ix) What is internal control ?
Tt fraeo R FEA R ?
(X) What is the Audit evidence ?
SPE A E ?

SECTION-B
g -§

2. Rajan Hotels & Restaurants is a composition dealer engaged in serving and supply of
food items. In the month of Oct. 2019 the turnover was as follows :

ToH B1eet T8 TRRR T FAIeH e & St wivw amnft wes v Reft 8 am gan d |
Hagar 2019 | 361 foht amad e e a R

(i) Room rent 25,00,000

(ii)) Sales in bar 30,00,000

(iii) Serving of food in hote] 5,00,000

(iv) Supply of food on order 20,00,000

Find tax liability of composition dealer.

FHIRAA R 1 R iy FAE |

Mention provision rejageq to following exempted services :
et 50 % Q) g 3.
(i)  Service by Govemment

HTHR GRT Hany

(i) Agricultural gore

T g
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Define reverse char

8¢ and explain its effects on society- { 3T TATH |
mmﬁmﬁaw aﬂxmmwﬁmﬁﬁm

Write short notes on -
fae wx feumof} fRafge
(i) Zgro rate supply

T I
(i)  Export of services
qanat 1 fafa
(ii)) Location of the recipient of services
st 3 st ) T
(iv) Continuous journey
o= amn

Differences between Internal Check and Internal Audit.

e e 3 s sibem # s A |

What is the procedure of registration according to CGST Act ?

i ft Tw & srfrfem & argem vfie 6 whsa s 2 7 s 9 e AR |

Mr. Mukesh who carry on business in Jaipur has purchased 20,000 pen worth
¥ 8,00,000 from M/s. Verma Associates located in Udaipur. Mr. Mukesh’s daughter is
an employee in Verma Associates. The price of each pen in the open market is T 40
each. The additional charges recovered is ¥ 15,000 for delivering the goods to the
recipient’s place of business.

What will be the value of the supply ? Give the reasons.
A 535, R g SR e &, 3 20,000 ¥ 2 8,00,000 3 e w e e A
i TR & Wl | R g A e Al i § s 2 |y W

ISR & hiva T 40 8 lﬁmﬁmﬁf%w%mmmﬁw
T 15,000 fefees ager fra & | RNF

78 I 1 e g 7 RO AiEd FEeEd |

SECTION - C
g -4q

ITC available with the tax payer is as follows :

AT % 918 [TC 39 8
‘Tax Amount

CGST 20,000

SGST 25,000

IGST 30,000

Cess 2,000
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10.

11

12.

ayer is as follows :

Output liability of th;t@ﬁ AreTTER R :
FTAT T AL T

Tax Am0Illlt .
CGST 30,000 ,
SGST 40,000
IGST 12,000
g:}?:t . b:t’](q)g?l"t tax liabilities of the tax payer ?

7
T 1 g G e |
What do you understand bY Goods and Service Tax ? Explain its main advantages and

disadvantages.

T U S Y 0 A R 7 TED TG A T QN T |

“An auditor is not a valuer and yet he is intimately concerned with proper valuation of
Assets and Liabilities.” Discuss the above statement relating some important legal
decisions in the respect. -

" ke 7 i T} R ar a3 ofvet $ eaiew @ afis @y
T8 l”mwmmwmﬁ@m@wﬁmﬁﬁ%mmﬁm |

Jaipur Post Office provided the following services to persons other than Government
during June 2019. Value of all services are exclusive of GST :

I A S A 2019 5 wrm % arfitees R sttt @ ey et wa A |
St % e 3 of W wffer i 4 |

: L4
(1) Speed post Services 4.00.000
(i) Express parcg] POSt servi N
(iii) Basic mailsenjpgy o ; ’gg’ggg
(iv) Issuance of POsta] o, ders 2,00,000
(v? Rural postal nSurance servij 3’00’000
(vi) Transfer ofy, e crvices "I,
(vii) Pension Paymey, Y through money orders 4,00,000
(viii) Operation ofstt, Services 1,00,000
(ix) Distributiop o "8 3Counts 2,50,000
(x)  Collection ftemm“ual funds, bonds and passport applications  6,00,000
Compute the valyg ()fephone and electricity bills 2,00,000

Hh Zﬁ'ﬂ! w ] lmmat:x;ble Supply.
l

-~ aAfR
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C-350

B.Com. (Part-IIT) Exami
BUSINESS MANAGEMENT

First Paper
(Insurance)

Time allowed : Three howrs
Maximum Marks : 1 00

pation, 2020

(Marks : 2x10= 20)

A SECTION-A .
Nswer all ten questions (Answer limit 50 words). Each question carries 2 marks.
_ T — (3 : 2 x 10 =2

WWW%WW(WPﬁﬁsow) | S A 2 S HTR |

SECTION-B (Marks : 8 x 5=40)

8Alrlnsav:1ir any five questions out of seven (Answer limit 200 words). Each question carries
.

| qvE - (31 : 8 x 5= 40)
mﬁéﬁﬁﬁqﬁmﬁ%m‘q‘lﬁq(mmzoow) | T I 8§ HH BT R |

SECTION -C (Marks : 20 x 2 = 40)

Answer any two questions out of four (Answer limit 500 words). Each question carries
20 marks.

| gUg-H (3 : 20 x 2 = 40)
AR A A TR Al 3 I T (ST T 500 W1sT) | ek e 20 IHHR |

SECTION - A
v — 3
1. Attempt all questions.
- frfefea g s % SR |
(1) What is an Insurance Policy ? 2
Ao ?
(i) What do you mean by ‘General Insurance Business® 9 )

Qo7 S 19T ST’ ¥ 7Y T A F 7

. v 1
c-350 - p.T.0.
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(iii) Define Premium,
s ) ey AR |
(iv) What is meant by days of grace ?
¥ femet @ sy o # 7
(v) What is Endowment Life Policy ?
e S st w1 8 7
(vi) What is Group Insurance ?
qE AT RIR ¢
(vii) What is meant by Sea Perils ?
T S A @ o R 7
(viii) What is Valued Policy ?
TeATTR ST T R 7
(ix) Who may become Life Insurance Agent ?
St &1 qave i o o1 B ?
(x)  When was the Life Insurance Business Nationalised ?

St SfHT SFET T TP e AT ?

SECTION -B
GUg -9
Note : Attempt any five questions.
e : Tl vla vl & ST v -
2. What are the advantages of re-insurance to Insurer ?

QASTHT 61 Hfmrehaior @l w1 AN § ¢

3. Distinguish between a contract of insur i
ance and ordmary co
ntract.

< S T S

4.  Explain the essential elements of Life Insurance

Gﬂmﬁm%maﬁisﬁrm@,
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Explain the advantages of ‘Salary Saving Scheme’ ?
A WA AT & TV Ty |

6.  Describe the documents that are required to be filed with the claim for total loss of K
vessel, ﬁlﬁl’a
STET 6 oot a1 35 2 3 e e Ry Y ey e o 0 T |

7. Discuss the rights and duties of an Insurance Agent. ’
1 wSive 3 Srfrepr 3R wdey e |

8. Write short note on ‘Livestook’ Insurance. s
T i o it feoqft fifgw |

SECTION -C
T g -4

Note : Attempt any two questions.

Ne : Fordi & st & I &R |

9.  Briefly describe the various types of Marine Insurance Policies. | 20
= wehr & Wt sften wil <1 e wofa RA |

10. What in your opinion are the achievements and failures of L.I.C. of India ? Explain
them. 20
9% T H, W S i i 6w Jeafenat w sEwerad § 7 3w HiRe |

11. Discuss the role of Insurance in the field of Industry and Commerce, 20
Fiefirer Ta arftrRres fesra 7 A 6t i i s iR |

12. Distinguish between whole life and endowment policies. Describe the features of four

N mmm

main endowment policies. N 20
ST T a3 FAEC | SR TG R - 6 st
g HIR |
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C-354

.naﬁon, 2020
_11n) Exa®
B.Com. (Part-III) MENT

BUSINESS MANACE

Second pape’

(Industrial LaW)

urs
Time allowed : Thré¢ ho
Maximum Marks

(Marks :2x10= 20)
question carries 2 marks.
(3 : 2 x 10=2)

| SECTION-A
Answer all ten questions (Answer limit 50 words). Each
gug - A
U & Tl % I AR (I 50 ¥3) |uﬁ$ﬁ‘ﬂ23‘wﬂ%

SECTION -B (Marks : 8 x 5=40)
. Answer any five questions out of seven (Answer limit 200 words). Each question carries 8
marks. .
e -« (AF : 8 x 5=40)

A 3 & Rl e e % I A (ST 200 %) | 5% W7 8 HFH HI 2 |

SECTION - C (Marks : 20 x 2=40)

Answer any two questions out of four. (Answer limit 500 words). Each question carries
~ 20 marks.

LC LR |

(37 : 20 x 2=40)
it & e 2 et 35 T AT (IR S00 1) |5 5w 2 37 1 R

SECTION - A
G vg - R
1 1. Define the following
ﬁ'l:[ = m@ :
(i) Define the term factory.
FreET ) arorfyd R |
C-354 ]

p.1.0
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(i)  What do you mean by fencin® of machinery ?

R 6 ST e e € 7
(iii) Define Industrial dispute.
SheNfes e i weanrs AT |
(iv) I abour Welfare Officer
5 FHAT Al
(v) Objectives of Payment of Bonu$ Act.
7 T A & R
(vi) What is contribution ?
IEA TR ?
(vii) What is Partial Disablement ?
g iR e R ?
(viii) What is Minimum wages ?
i Tl e 7
(ix) Forfeiture of gratuity.
DG T Fatehor
(x) Define Trade Union.
59 ETHTE ?
SECTION -B
Qg -7
2.  Explain the main objectives of Factory Act.
TG FufEm & e St wy |

4.  Explain types of strikes.
FSATC & FhRI ! GHSTE |

C-354
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tion-
5.  Write a note on Employees State Insurance Corpor?

et T4 9 frm o o fef |

Joyer under Compensation Act.
6.  State the liabilities related to compensation of the emp

g e s P g e 0

es Act,
7. Define the term wages & employer as per Minimum Wag

e Sl T 3 ST e P ) S

8.  Explain the provisions regarding retrenchment.

B & T s g |

- SECTION-C
gg -4
). Define Industrial dispute. Explain modes of settlement of industrial disputes.

i fare 1 afeiv 3¢ 1 sivifres Rl ) gew % 6% |

0. Explain the procedure for calculation of Bonus amount.

N8 3 forg Iuerey Tl Y mror ) wfiwan sawmR |

1. How can a Trade Union get itself registered ? Explain,

W FY 1 Goiig forq TR foran a7 T @R |

2. What are the various schemes of the Employees Provig
of the schemes. nt fund ? Explain in brief each

Frar wiysy fifty f SF-29 @ Froand § 7“‘""‘“%& '
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C-3 47 . ation, 2020

B.Com. (Part-IIT) Exam!” TION &
ECONOMIC ADMINIS EﬁqENT

FINANCIAL MANAC
First Paper
(Business Budget’® g
Time allowed - Three h*"
Maximum Marks - 100
SECTION-A o (Marks2x104y
question carries 2 marks.

Answer all ten questions (Answer limit 50 words). Each :
| 3 (312 x 10=3y)
mmmﬁ%maﬁﬁq(mvﬁmsow)lmwzﬁmil /
SECTION - B (Marks 8 x 5= 40)
Answer any five questions out of seven (Answer limit 200 words). Each question carries 0
marks.
M (37 8 x 5= 4y
oA & A ol vl WAl & I AR (o 200 1s2) | TG TH 8 FF HTE |
SECTION-C (Marks 20 x 2 = 40)

Answer any two questions out of four (Answer limit 500 words). Each question carries

4:.'3 20 marks. '
g -F (37 20 x 2 = 40)

IR A @ fred 2 weal & Iw Afrg (ST 500 91%%) | e WY 20 AR FIR |

SECTION - A
g - N

(i) What do you mean by Budgeting ?
qoTe @ Y H1 G € 7

(i) What is Budget Co-ordination ?
e qHAE 18 7

C-347
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(iii) What is Flexible Budget ?
A s R 7

(iv) Explain Master Budget.
TR T ! HAHTEY |

(v) What do you understand by Business Forecasting ?

TR A & 3 € 7

(Vi) Mention any two Benefits derived from Cash Budget.

derg T & e Hrd 4 o T |

(vii) What is Zero Base Budgeting ?

SR A (S ) T F1 8 7

(viii) What do you mean by Performance Budgeting ?

(ix) Give the formula of Material cost variance.

et @ Fereon 61 g7 e |

(x) Explain Type of Risk.
Mg % TR T |

SECTION - B
Qg -
2. What is Key Budget factor ? Give a few examples.

e e T 1 & 7 O ST g |
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pits is given under ‘X’ below fq, a

3. The cost of an article at a capacity level of 5000 ¢1. The individual expenses vary a4

variation 25% in capacity above or below this lev

indicated uqder ‘Y’ below. ma,rg | sTaT F
5000 ST < & TR T TH g N A XF ‘Ya%a,—démﬁ@-;}qw.é

ZS%WWWWWWW-&ﬁaﬁM

XQ®) L4 .

Material 35,000 100% varyfﬂg

Labour 15,000 100% Var}{mg

Power 2,000 80% var)'fng

Repair & Maintenance 3,000 75% varying

Stores 1,000 100% varying

Inspection 600 | 20% varying

Depreciation 10,000 | 100% fixed

Administrative Exp. 5,400 | 20% varying

Selling Overhead 3,000 | 50% varying

| 75,000

Calculate the cost per unit of the product showing at production level of 4,000 units
and 6,000 units. ,
4000 FHISA T 6000 T 3 TeTEH TR R SR 2 1 G §Y F FHTE A 0
$f | :

4. The Yashoda Ltd. plan to sell 108000 units of a certain product in first quarter; 120000
units in second quarter; 132000 units in third quarter; 156000 units in fourth quarter
and 138000 units in the first quarter of the following year. At the begining of first
quarter of current year, there are 18000 units within stock at the end of each quarter.
The co. plans to have an inventory equal to one-sixth of the sales for the next quarter.
How many units must be manufactured in each quarter of the current year, if

(a) There is no loss in production.

(b) There is loss of production at 4%, 2%, 5% and 3% in First, Second. Third and
Fourth quarter respectively. )

iy Rt ek TR Sere St wem fowrdl # 108000 s, Ry

g fomrdh & 132000 gTéat, igel fommdt & 156000 gewrdat 5 mgmm&
138000 TaTEat e B A & | LT 5 IO 1 e Rl 18000 gt e
e & | e s o feme & fopeeft gepTE S IR o s g, e

@) IAEAdPE AT
(%) e % e, e, o O < TR S 3w 4o, 204, 5 e 304 oy

C'347 P' T. 0'
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If d d of X in Chennai is 50 ca]culate CStimath demand at Jalpul' from the
eman .

following Information.

o 3=k X A wi 5ozaﬁqmm@ﬁwﬁmﬁ“mﬁmmn

Average Demand at Chennai X)) = 60

Average Demand at Jaipur (Y) = 62
Standard Deviation of Chennai (%) =3
Standard Deviation of Jaipur (oY) = 2.5

Correlation Coefficient (r) = 0.6

Differentiate Zero base budgeting from Traditional budgeting.

sﬁmmmmmﬁmmﬁﬁm

Briefly discuss the various items of Cash Receipts and Cash Payments.

S R e s gt i P o i v it |

Yassu — Ramana Co. is considering two mutually exclusive project X and Y. Project X
cost 30,000 and Project Y 36,000. You have been given below the Net present value
probability distribution for each project.

gy — T el 2 R A oI X e Y o e o T R | afrSrT X

ST T 30,000 T AANHT Y < AT 36,000 |m:ﬁ%mw&zhwamgz
T g ik e fe T

Project X | Project Y

N.P.V. Estimate | Probability | NP.V. Estimate | Probability
3,000 |0l 3,000 0.2

6,000 |04 6,000 0.3

12000 |04 12,000 03 |
15,000 01 ]15,000 0.2

C-347 4
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10.

t X and Y.

(i) Compute the e je¢
p Xpected Net Present Value of ProJ dard deviation of each

(li) Compute the Risk attached to ea j i e. Stan
oy ch t, i.e.
Probability distribution, ) Profes

ce e . . ‘7
(iif) Which Project do you consider more Risky and why
() IRERA X T Y g a0 e Hi |

iR |

(i) % 1 et 9 3 s e ot v & AT

1 JoTq e 7

SECTION -C
Qg -9
Define ‘Budget’ and ‘Budgeting’ : Discuss its utility and limitations.

e T e ) o i | g g o ded 1 o I

The Operating Result of Ramna Ltd. for the year ending 31* March, 2010-11 are

Summarided below :

o 4. ¥ 31 U, 2010—11aﬁm€ﬁaﬁaﬁ%qﬂmﬂwﬁmﬁmm=ﬂ%ﬁm
TI?JT%:

- T in lakhs
Sales — 40000 units 48.00
Less : Trade Discount 02.40
~ Net Sales 45.60
Cost of Sales :
Direct Materials 14.40
Direct Labour 12.60
Factory overhead 6.30
3.60

Administrative overhead
Distribution overhead 4.50

to be incorporated in the budget for the year 2011-12 -

The following changes 8¢ )
i 2011—12%1%{&%13'2‘a'ﬁf‘:“:‘”ﬁ?""'“'f("""i=h TR e
reased by 25%

(a) Sales (units) t© be Inc ;
(b) Material price 10 increased by 157

' 0
(c) Direct wages t0 goup by 12%
(d) Overhead

Selling and

nTil)
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12.

ed by 15% in addition, & new facility will addeg to
peases = ‘ o ‘ ’
ring cost of T 12,500 per year; Administrative and sellip
R . » » s » n‘ I .
factory laboratory at a r': . cstim“tcd to increased by 10% and 14% respectively .
and distribution overhead 8

Factory overhead will in¢

(¢) Inventory - No change

" . v o h
Q) Profit Target for the year has been fixed at T 6 lakh and

reade discount
(g) No change in rate of Ifﬂdc d

Calculate the Unit selling price and present the budget for 2011-12 in a meaningfy|
alculate s¢

format.

ﬁwﬁmwﬁmmwzou-n%ﬁmmmm|

Discuss the essentials of Business forecasting and explain various techniques and tools

of it.

mw%mﬁﬁwmwﬁmm@mm
Tu i |

The standard cost of a certain chemical mixture is :
35% Material A at < 25 per kg,

65% Material B at X 36 per kg,

As standard loss of 5% is expected in production.
During a period there is used

125 kg. of material ‘A’ at ¥ 27 per kg.

275 kg. of material ‘B’ at ¥ 34 per kg,

The actual output was 365 kg_

Calculate :

(i) Material Cost Variance

(ii) Material Price Variancg

(ili) Material Mix variance

(iv) Material Yield Variane,

C-347
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s v fowen oY wary ey we wenl
35% wraef) o € 25w fwmn

65% |l v T 36 Wiy R

JeqreA |y ' $% e 8 |

T vafty § IqENT W NHR g

125 kg. of material ‘A" at T 27 per kg,

275 kg. of material *B* at T 34 per kg.
The actual output was 365 kg,

W‘ﬁﬁt{:

()  wmaf ST e
(i) wraf Yo e
(iii) sy favsror o
(iv) wmnft e fere

C-347
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= C-351
B.Com. (Part-IIT) Examinat™
Economic Administrati®”
Financial Managem®"

Second Paper
(International Trade)

Time allowed : Three hour: s
Maximum Marks : 100

2020

SECTION - A - (Marks2x1p=y
Answer all ten questions (Answer limit 50 words). Each question carries 2, marks.
T &8 T % IR R (Fe e 50 Ise) | TS T L IH HR |

SECTION -B (Marks 8 x 5=40)

Answer any five questions out of seven (Answer limit 200 words). Each question carries 08
marks.

-

T -

(3T® 8 x 5=40)
| 3 & foreedf ot et 3 ST T | (ST HT 200 ) | e W 8 ST ET R |

SECTION-C

' (Marks 20x2=40)
Answer any two questions out of four. (Answer limit §¢¢ words). Each question carries
20 marks.

g -§

(3w 20x2=4)
A el @ et 3 IR G (TR HAT 500 Wi

) 1% w7 20 siw w1 R |

| SE::?I:‘“A_ “@x10=®
1. (i) Whatis International Trade ?
Tl AR TR 7
_ (i) State main prdblems of International Trade"
STRTg TR ) @ T T |
C-351 1
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(iii) Define Documentary Credit:
waralia §1@ 1 afonfya i |

‘ ional Payment.
(iv) State main methods of [nternational £ay

(v) State main objectives of Wo

e SR ST 5 g e T |

(vi) State main causes of di

wﬁmﬁm%wgﬁmml

(vii) Whatis UNCTAD ?
ok 1B

(viii) What do you understand by Terms of Trade ?

| SR NS A AT A € ?

(ix) What is meant by Free Trade ?
T SR A 0 AR 7

(x) What is meant by Exchange control ?

fafiwrg frio @1 & AR

SECTION -B
Qg -
Discuss the need of International Trade,

mwmﬁmﬁﬁmwl

Discuss the basis of International a4,

mﬂmmtmﬁﬁm%|

Discuss the functions of World Trage Organisation
firya TR A % w1 6 e

QK1

(|d Trade Organisation.

sequilibrium in Balance of payment.
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10.

11,

12,

S v
tate the corrective measures in unbalanced payment-

YT SHgeH H FUR ¥ Jury wamed |

Differentiate between Free Trade and Protection
TR BTYT T TR0 A 37w |

Discuss merits and demerits of Foreign Aid.

fordeft wrgraren 3 o1 arauit Y g hifdee |-

State the need of exchange control.
faforra frimron &Y arrervaesan wamed |
SECTION-C
T - H
Discuss the method of opening a Documentary Credit.

yerE arE @iem  ift o fifi |

Discuss the objectives and functions of EXIM Bank of India.
m@wﬁaﬁa—mh%a’m@mﬁﬁmm |

Discuss gains from International Trade.

s =R i affar h feere R |

Discuss

i e 35 St e 0 P e

the objectives and methods of Exchange Control,
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